MAOHMATIKA 09-10-2024

2. o 457.(56+44)=457.100=4.5701
457 - (56 +44) = 45,7 - 56 + 45,7 - 44 = 2.5569,2 + 2.010,8 = 4.570.
e (675-120):15=555:15=371
(6756 —-120):15=675:156-120:156=45-8 = 37.
e 254.(45-25)=254.2=508n
254.(45-25)=254-45-254.-25=1143 - 63,5 =50,8.

NpoBanpara

1. SOKOAGTQ: (4+5)- (18 +7)+ 25 =9.25+ 25 = 225 + 25 = 250 yp.
Bavihia: 100:25:4 =4:4 =1 yp.
Boutupo:15-3:2—-1=15—-6 — 1 = 8 KOUTOALEG,.
Auyd:58 - 6-9=58 -54 =4,
Zaxapn:6-2: (2+4)=6-2:6=12:6 =2 koUuneq.
Kpéua: 28 (20 — 10) — 55 = 28 - 10 — 55 = 280 — 55 = 225 yp.
Oewpoulpe 6TL N ouvtayn avapEpeTal og 4 HePIdEG LOUG.

2. (2.460+2.390+1,30+3-090+4-1,25):4=
~(9,20+7,80 +1,30 +270+5):4=26:4=65¢€.



